Invasive and Native species
g o C8L disS 3l aiws g0 S jeb 4y piiwsST SO o

5 00,5 (Sj oylgan (Pl (hursS| Sy )0 o5 Wighoo Soszse Jolis (NALIVE) (o5 slaaiss @

prssS| iy et Sl sos slaaisT (al IS e Bloaiil e Sl sas iz Ol o2
FO9 s

g Ol (g aiile ()5 Jelge 51 5 Yaare a5 aiiws Slg>ge (INVASIVE) Lo sladisS @

S (0 99,9 WA eSS &
5 asls (Adaptation) cyols 335 50 (g dur 08 Yoors alin g sloasss b cold, jo laaisS

A o0 pamawsS | s

Niche

S 51 5555 S ol 35500 5 L 9 055 oSl 0y & 5T Vian 85 e o
il oo ) 9)lge Jolds Sledol rpl il co 095 oy dazmo ;0 disS oSSl 4

(... 9 UT Jae é»l.s.c ooy W.Q‘)S cwﬁ.’o) 9 Lo wislo w# J;LA ‘s‘a.,_?bo S Ja.")...o) ol.i».ma) L4

(Jio adg g (288 slopuailSo die el b I slo g5l il aiile) 453 L3, @
(45; L5)|9>' e L 6)‘9.7’&3[:5 ‘6)‘97’6.&; 9 oalawl Sy90 sl Q‘}.t.,o 9 &) ool ul S 90 slie o
[ J

DS o (S ol 0T eiewsS| AT IS LG e

Sl i slp e jw plagl o) 5 lae S5 o il ) o0 (KiSz 550 50 4555 oSl pogie

S eaalie |y s (ol 4 oSl popde b it oLl sl

@TestHelperTOEFL


https://www.youtube.com/watch?v=xIVixvcR4Jc

Competitive Exclusion Principle
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https://www.youtube.com/watch?v=lO6Wjk90Azo

Food web
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https://www.youtube.com/watch?v=G1sxDSKEGMg

Population dynamics
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Evolution
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https://www.youtube.com/watch?v=GhHOjC4oxh8

Metabolic rate
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https://www.youtube.com/watch?v=mLbDbmmV6Qc

Animal Categorization
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Interspecific competition
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DNA contains an organism's genetic code or "blueprint.” But it can't function alone. It needs RNA to
translate and copy the instructions from the cell nucleus to the ribosomes in the cytoplasm. These are the
key differences between DNA and RNA.
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https://www.youtube.com/watch?v=JQByjprj_mA

Ruminants
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https://www.youtube.com/watch?v=CJomFwt3eMs

Shoaling and Schooling

o2 LS 5o ol solamd ol pez a0 Ll g a8 Jled 4 ba oo gl caad SlMhaol YU pgphe 50

b oot gles (Jl cpl b .ails 6l (09,5) shoal L school e als 5| slacgome a5 S g5 o .05l

2 &l lals 5l (29,5 b pezr 40 )Lil g 00y 3 N5 Mllasl S, Shoaling .ol s52g &le g0 0l

3y o ol 5l ez o lil g oogr 5 el & le G Schooling Ll .ol claix! LYo alos 5l Son
REC NN PSR FCPIIE  HCHAIE S CISNAPTIE PRV PR JC RSt

..\.HS oddlive ‘) g9 U"‘ YIJ MLO.@ La ).a.w.u @L».M:T 6‘,:

Planktivores

(e Slg 5|45 513 55 Loy 51 5 Sl il e el 3, Kn 0 ol 5 o ol (IS oy 50
GRS gl o guine 108 a3 2 (gl 138 ol (goaSudgs oS laaisS (ul 0 oo 355 Haud 5 (3905 Wil
5laS i bo)lgs eSO b e planktivore loassS opl oxiws o oleys, 5 (zooplankton) la,e:Sds;

Wigd oo S 5 I s ol lawgi 093 g ulS 0 wdws L3 slaoaiiSay

LeviL) TOP ==—
‘| PREDATORS

1 pound

Levit) INTERMEDIATE
3: PREDATORS
)

Black Grouper “ﬂ“b'-u ¢
1Y o

Bar Jack 10 pounds Yellow-tail Snapper

Levit) FIRST ORDER R0
2, CONSUMERS .(
") $ 8, . e
. ~,\‘.-',-' % Atiantic Bive Tang D
100 pounds Queen Conch
PRIMARY }b}/ o A
PRODUCERS \,” / \\ ;
-~ o
Seagrass —— .
Phytoplaniton 1,000 pounds Nowe,

(ouls oolw) L‘;’] Lgl.md.s; u:"b“c' 0 i) -7 Ji...v

@TestHelperTOEFL


https://www.youtube.com/watch?v=UbkM4KvauuA

Ectotherms and Endotherms
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https://www.youtube.com/watch?v=LH1p1XOqfsg

Sexual Dimorphism
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https://www.youtube.com/watch?v=x4Mk7NrLp4k

Biogeochemical Cycles
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Membrane
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https://www.youtube.com/watch?v=K-zrBaIt-38

Enzymes
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https://www.youtube.com/watch?v=ozdO1mLXBQE

Symbiotic relationships
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https://www.youtube.com/watch?v=NBqLktQKw98

Environmental Cues for Navigation
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Biological Rhythms
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https://www.youtube.com/watch?v=UbQ0RxQu2gM
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Sleep Stages
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https://www.youtube.com/watch?v=eM2VWspRpfk

Gradualism vs. Punctuated Equilibrium Evolution
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https://www.youtube.com/watch?v=qSjiFxIHknk

Allopatric Speciation
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Allopatric Speciation

ORIGINAL GEOGRAPHIC REPRODUCTIVE SPECIATION
POPULATION BARRIER ISOLATION

t

once some kind of barrier is in place
speciation is only a matter of time
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https://www.youtube.com/watch?v=udZUaNKXbJA

Ecological Succession
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Latitude vs. Longitude
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https://www.youtube.com/watch?v=NldgslCvJrI

Fungi Associations
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https://www.youtube.com/watch?v=i9zj9V8OWRk

Determinate and indeterminate layers
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